Why currency?



How has this problem been solved in history?

e “Currency” has emerged in every community / civilization in history
(including in prison and prison camps) because it solves a basic need
in all human exchange

* Currency is always a localized phenomenon and has evolved with
changes in economic needs based on the “best” available economic
good (information protocol)



Specialization increases productivity (dramatically)
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But requires exchange




And resolves the double coincidence of wants




Currency solves the exchange
oroblem



Exchange in small groups is easy




Gets harder as groups get larger




And more complicated as the group gets even larger




Evolution of the exchange problem

* Small group (< 50) — reciprocity (based on exchange with trust)

* Medium-sized groups (> 150) — commodity currency (initially based on
objective utility

 Large groups (thousands to millions) — commodity currency (based on
precious metals)

* Really large groups (nation states) — government-issued currency (based on
collective trust)

Barter is one of the great economic myths:
represents single coincidence of wants
(which is very rare)



Currency is the grease that makes the
economy work




Currency emerges as the intermediate good
used in exchange/trade as an
information / value place holder



Currency can be anything
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It has been ...

Cowrie sheIIs. Salt (Northern Africa) Barley (Mesopotamia) Beaver peI’Fs
(Sub-Saharan Africa) (North America)



Then standardized to...

Gold Silver



Because of their superior physical properties
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*Platinum and Palladium have melting temperatures requiring 1860’s blast furnace technology
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Economists believe currency plays 3 primary
roles in an economy

Yttt e
=EEERE = E RS
| =5 ) ==
il s AERE
1 i ‘ |
|
"

1. Unit of account

A

]
N2

b: 2. Medium of exchange

3. Store of value




Economists are wrong ...

 All uses of currency are a function of time:
 Medium of exchange — time equals the present
 Store of value is medium of exchange at a point in the future

* Unit of account is medium of exchange for all time periods up to the point of
exchange

Currency is only a medium of exchange



In reality, currency plays only one role

Medium of exchange

“Store of value”

E—)

Future exchanges

“Unit of account”

Past exchanges

Moment of exchange



Currency is an information protocol *

* The form of the currency is essentially irrelevant — it is the information that the protocol expresses that is important



Best modeled as an information exchange
network

* Dots (nodes) = economic agents
* Lines (edges) = economic activity ->
exchange/trade

* Not all links are active at all times (represent
potential exchange state)

* Protocols emerge in all networks for
efficiency allowing each agent to optimize

flow




Economies are exchange networks

* Currency is the exchange protocol
between nodes (N) in an economic
network

* The protocol is a function of the number
of nodes that accept it

* Value of the protocol is = f(N-1)?

e Most networks exhibit winner take most
(all) tendencies




Currency is a collective belief system serving
as an exchange protocol




Because currency is an exchange protocol

* The “value” of currency:

* materializes and becomes tangible only when it is exchanged for a good or
service

* is realized when one person puts trust in the currency at the moment of the
exchange

* is impossible to determine except at the point of exchange

* It is at the point of exchange (which is an “an act of faith”) that the
value of an intrinsically worthless item (i.e. piece of paper) becomes a
reality



